
Distance between point and a given plane 
Given:  Plane Q with two non-collinear vectors  , ,1 2 3(u u u )U , , ,1 2 3( )V v v v

 
and point 0 0 0M( , , )x y z . Point   P( , , )p p px y z ∈  Q        
Find the distance d  between the point P and the plane Q 
                    P( , , )p ppx y z                                   N                                                N                                                                               
                                              d                            d                                                                               
                                                                                                    
         Q 
         

1) Let SPR=Proj MPN


   is a scalar projection of a vector PM onto a vector N  
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where  ,   ,   C=

2 2 24) U  = 
5) Finaly we have:  
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